PERIMETER, AREA, & VOLUME
I. PERIMETER:

[image: image1.wmf]1.
Find the perimeter of a square pool.  One side is six feet.  


         6 feet







                                                                                                                         

A. 36 ft.
B. 24 ft.
C. 12 ft.
D. 6 ft.

E. NH

2.
Find the area and perimeter of this rectangle.

[image: image2.wmf]





       


Area = L x W  



      68 cm


Perimeter = Add all sides







               

    45cm
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Find the perimeter of a rectangle that has a length of 26 

            centimeters and a width of 39 centimeters.                          26 cm










                    39 cm 

4.
Find the perimeter of this rectangle.




                 

 3.4 cm








 6.5 cm

5.
Each side of a square is 7.6 inches.  What is the perimeter of this square?

A. 30.4 in
B. 57.76 in
C. 31.4 in
D. 58.76 in
E. NH

6.
What is the perimeter of the figure?



          18 in.




8 in.


        8 in.



          18 in.




A. 52 in.
B. 26 in.
C. 144 in.
D. 288 in.
E. NH
7.
The perimeter of the triangle below is 95 centimeters.  Find the length of the

one  side that’s missing.






          



Perimeter = Add all sides

                                      24 cm.
                                                                
         
       ?


 

                                                                             30 cm 

II. AREA:

8.
Find the area of the square below.





 



                      8.3 cm

A.  33.2 cm2
B.  24.2 cm2
C.  68.89 cm2
   D.  688.9cm2
E.  NH 

9.
Which is the greatest area for the least amount of fencing in square feet?

 

A. 20 X 60
B. 50 X 10
C. 10 X 120
D. 30 X 40
E.  NH

  

On the lines below, explain your answer.

________________________________________________________________

________________________________________________________________

________________________________________________________________

 

10.
If each box represents 1 square unit, what is the area of the entire box in

square units?

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


11.
What is the area of this square ?  

            16.8 in.                                                    

A. 60.5

B. 67.2

C. 55

D. 282.24 
E.  NH

12.   What is the area in square units of the squares below?

	
	
	
	
	
	
	
	
	
	


13.
Look at the diagram and determine the area of the sandbox.

                                                       60 ft                                                   





       



10 ft 










   
40 ft


                             15 ft  
                                15 ft

                        10 ft

14.
What is the area in square units?

	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	



A. 13

B. 16

C. 17

D. 18

E. NH

III. VOLUME:

15.
Find the volume of this rectangular solid.


 

 

 







6"

      








 



                
                         

         4"

                                                                         8"                

16.   Find the volume of a rectangular solid that has legs of 6, 12 and 8   

          inches. 


17. The doors in the Jones’ house is the same measurement as the doors in the school building.  The height of the door is 7 feet, the length is 3 feet and the   width is 2inches.  Find the volume of the door in inches.




7 feet.                            2 inches







    3 feet


A. 42 in.3
B. 168 in.3
C. 504 in.3
D. 6048 in.3     E.  NH

18. The desk in the office is 4 feet high, 2 feet long and 3 inches wide.  What is its

volume in cubit inches?


A. 41472 in3 
B. 2400 in.3 
C. 4056 in.3 
D. 3456 in3    
E.  NH
19. We moved our furniture into our new home.  One of the tables is 7.5 inches wide, 9.5 inches long, and 13 inches high.  Find the volume in inches.


A. 842.25 in3
B. 926.25 in.3
C. 835.27 in.3
D. 906.23 in.3
E.  NH

20.      My sister brought my father a television for his birthday.  The volume is 

           24,192 cubit inches.  The length is 32 in3 and its height is 28 in3. What is the 

           width of this television?


A.  18 in3
B. 27 in3
C. 38 in3
D. 896 in3
E.  NH

PERIMETER, AREA, VOLUME 1 ANSWER SHEET

I.
PERIMETER

1.         Find the perimeter of a square pool.  One side is six feet.  

Perimeter = Add all sides  6 + 6 + 6 + 6 = 24                  6 ft.










6 ft.

         
  A.  36 ft. 
     B.  24 ft.
     C.  12 ft. 
      D.  6 ft.

2.
Find the area and perimeter of this rectangle.







       


Area = L x W
     68 x 45 = 3060 cm2
        68 cm

    45cm

Perimeter = Add all sides



SOLUTION:
 Step 1:  68 + 68 = 136





 Step 2:  45 + 45 =  90





  Step 3:  136 + 90 = 226

Therefore, the area is 3060 cm2 and


 the perimeter is 226 cm.
3.
Find the perimeter of a rectangle that has a length of 26 


centimeters and a width of 39 centimeters.

  Perimeter = 2(L + W)       


Step  1   26 + 39 = 65               Step 2   65 x 2 = 130 centimeters

4.
Find the perimeter of this rectangle.





                      3.4 cm                            

  
Perimeter = 2L + 2W





   Length
     
 
   6.5 cm






 Width

3.4 6.5

                 x    2         x   2

                    6.8    +   13.0   =        19.8

                 Answer:  19.8 cm
5.     
Each side of a square is 7.6 inches.  What is the perimeter of this square?

A.  30.4 in.

B.  57.76 in.

C.  31.4 in.

D.  58.76 in.

                                      7.6            7.6

       P = 2l + 2w           x  2
     x   2



15.2     +   15.2   = 30.4  Answer

6.
What is the perimeter of the figure?        Perimeter = Add all sides



          18 in.




8 in.


        8 in.



          18 in.



A.   52 in.
B.  26 in.
C.   144 in.

D.   288 in.

E.  NH
7.
The perimeter of the triangle below is 95 centimeters.  Find the length of the

one  side that’s missing.









Perimeter = Add all sides

                                                24 cm                              Step 1  Add 24 + 30 = 54




       ?       Step 2  Subtract 95 – 54 =  41

               30 cm                          

                                                                   30 cm

               

    Answer   41 

II.
AREA


8.
Find the area of the square below.





 



                      8.3 cm

A.  33.2 cm2

 B.  24.2 cm2 
   
    C.  68.89 cm2           D.  688.9cm2         E.  NH

9.
Which is the greatest area for the least amount of fencing in square feet?

 

Area = distance within
Fencing = distance around or perimeter
A.
 20 X 60
B.
50 X 10
C. 
10 X 120
D.    30 X 40

             1200 area

1000 area

1200 area
      1200 area

  
160 fencing         
120 fencing
        260 fencing           140 fencing


On the lines below, explain your answer.

A, C & D all have the same area.  (1200 sq. ft.)  B can be ruled out because it only has 1000 square feet in area.  To find the least amount of fencing or the perimeter just add all sides of A, C and D and D is the correct answer.

10.  
If each box represents 1 square unit, what is the area of the entire box in

square units?

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


Step 1   Count across (10) rows, then count down (10) columns

 
Step 2   Multiply 10 x 10  = 100 square units

11.
What is the area of this square ?  

            16.8 in.                                                    

SOLUTION:  Multiply 16.8 x 16.8




The answer is 282.24



Therefore, the answer is D.


A. 60.5

B. 67.2

C. 55

D. 282.24
E.  NH

12.   What is the area in square units of the squares below?

1       2         3        4        5         6        7        8          9        10



	
	
	
	
	
	
	
	
	
	



SOLUTION: 



Count the number of squares in the problem.




The answer is 10.

13.
Look at the diagram and determine the area of the sandbox.

                                                       60 ft.                                                   





       



10 ft. 










   
40 ft.


                             15 ft.  
                                15 ft.

                        10 ft.




Add 15 + 15 =30              Add 10 + 10 = 20

Step 1  60 – 30 = 30
      Step 2  40 – 20  = 20           Step 3  30 x 20 = 600 sq ft

Answer:  600 square feet
14.
What is the area in square units?

Count the number of








square units = 16


	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	



a.  13

b.    16

c.   17

d.    18 
e.    NH

III. 
VOLUME

15.
Find the volume of this rectangular solid.

 


 

 

 







6"

      








      Volume = L x W x H

 



                
                         

         4"

       8 x 4= 32 x 6 = 192 cubic inches           8"                

16.   Find the volume of a rectangular solid that has legs of 6, 12 and 8   

          inches. 



SOLUTION:  V = L x W x H



L = 6



         W = 12




H = 8





6 x 8 x 12




Step 1:  Split 12 into 10 + 2



Step 2:  Multiply 6 X 8 = 48 x 10 = 480



Step 3:  Multiply 48 x 2 = 96



Step 4:  Add 480 + 96 = 576



Therefore, the volume is 576 in3
17.      The doors in the Jones’ house is the same measurement as the doors in the 

           school building.  The height of the door is 7 feet, the length is 3 feet, and the 

           width is 2 inches.  Find the volume of the door in inches.





7 feet                   2 inches

                                                                                3 feet


A. 42 in3
B. 168 in.3
C. 504 in.3
D. 6048 in.3
18.       The desk in the office is 4 ft high, 2 ft long and 3 in. wide.  What is its

volume in cubit inches?


A. 41472 in3 
B. 2400 in.3 
C. 4056 in.3 
D. 3456 in3


19.      We moved our furniture into our new home.  One of the tables is 7.5 inches

           wide, 9.5 inches long, and 13 inches high.  Find the volume.


A. 842.25 in3
B. 926.25 in.3
C. 835.27 in.3
D. 906.23 in.3

20.       My sister brought my father a television for his birthday.  Its volume is 

24,192 cubit inches.  The length is 32 in3 and it’s height is 28 in3. What is the   width of this television?


A.  18 in3

B. 27 in3

C. 38 in3

D. 896 in3
          Step 1  Multiply 32 x 28 = 896

          Step 2  Divide 24192 by 896 = 27

         Therefore, the answer is 27 in3
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